Math 160c Prof. Beydler Homework Solutions for Packet #13 Pagel of 5

1. Graph"Qw o ¢. State the domain, range, and asymptote.
I Re€ lect about y-axis
RQC (ect abount x-axis
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3. Evaluate witho alculator. R
a)ll (;MU =3 b)I :|

4. Make sure you know how to use your calculator to evaluate using exponents and logarithms.
Evaluate each of the following with a calculator and round to the nearest 3 decimal places.
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2.Graph™Qow 1 1o ¢ o. State the domain, range, and asymptote.
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5.Find the domainoiQ® Vo o 11T 0 .
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Q: What belongs to you but others use it more than you do?
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6. Graph™Qw
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0. State the domain, rangand asymptote.
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8. Graph™Qw - p. State the domain, rangand asymptote.
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o (¢Q. State the domain, rangand asymptote.
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12. Graph™Qw 1T @» p. State the domain, rangand asymptote.
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14.GraphQow ¢l To p 0. State the domain, rangand asymptote.
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16. Evaluate without &alculator. ‘

a) 11 % = 10933-K ="z

by 1 TQQ = /FAQ—’:@

C) G =@

d) I TICICI T Ci(hatis,] TICI @€t )
Log (L (10™)) = fog 190 =[Z)
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Q X 6
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